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JLTva 22 8 176
r— 594 1 594
VR 162 2 324
RCAY vy 4 130 2 260
K5 ILSW 400 1 400
K4 JLSW2 200 2 400
T 125 2 250
AAXH 50 2 100
VES 140 4 560
EST R 240 1 240
LERER 250
INED; 1300 1 1300
0SCaA L 500 1 500
IN=T T+ 300 1 300
N=TFTFHRILE 20 2 40
77— 250 1 250
PEEL 350 1 350
GTEYVH vk 170 4 720
MTEY vk 1 130
Ea—X7RILE — 100 1 100
SR 160 1 160
BIRFSU R 1600 1 1600
LERER 300
HASUR 700 1 700
LERER 100
INARIL 3500 1 3500
LERER 450
LCDER 3% 1 1000
LERER 300
IFT 1000
LERER 300
*F8 200
BARDKLEE 16854
Ein-a To9—8K * %
B X X
BEEERK X % ok




